Council Tax Charges 2010/2011

Bath & North East Somerset Council Tax Rates 2010/11 with Parish, Police and Fire Precepts.

Parish	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
Bath	£957.92	£1,117.58	£1,277.23	£1,436.89	£1,756.20	£2,075.52	£2,394.81	£2,873.78
Bathampton	£974.97	£1,137.46	£1,299.96	£1,462.46	£1,787.46	£2,112.45	£2,437.43	£2,924.92
Batheaston	£977.22	£1,140.09	£1,302.97	£1,465.84	£1,791.59	£2,117.33	£2,443.06	£2,931.68
Bathford	£968.79	£1,130.25	£1,291.72	£1,453.19	£1,776.13	£2,099.06	£2,421.98	£2,906.38
Cameley	£980.13	£1,143.48	£1,306.84	£1,470.20	£1,796.92	£2,123.63	£2,450.33	£2,940.40
Camerton	£979.63	£1,142.91	£1,306.18	£1,469.46	£1,796.01	£2,122.56	£2,449.09	£2,938.92
Charlcombe	£958.37	£1,118.10	£1,277.83	£1,437.56	£1,757.02	£2,076.48	£2,395.93	£2,875.12
Chelwood	£959.50	£1,119.42	£1,279.34	£1,439.26	£1,759.10	£2,078.94	£2,398.76	£2,878.52
Chew Magna	£978.07	£1,141.08	£1,304.10	£1,467.11	£1,793.14	£2,119.17	£2,445.18	£2,934.22
Chew Stoke	£977.51	£1,140.43	£1,303.35	£1,466.27	£1,792.11	£2,117.95	£2,443.78	£2,932.54
Claverton	£993.53	£1,159.12	£1,324.71	£1,490.30	£1,821.48	£2,152.66	£2,483.83	£2,980.60
Clutton	£969.66	£1,131.27	£1,292.89	£1,454.50	£1,777.73	£2,100.95	£2,424.16	£2,909.00
Combe Hay	£1,006.08	£1,173.76	£1,341.45	£1,509.13	£1,844.50	£2,179.86	£2,515.21	£3,018.26
Compton Dando	£969.45	£1,131.03	£1,292.61	£1,454.19	£1,777.35	£2,100.51	£2,423.64	£2,908.38
Compton Martin	£978.93	£1,142.09	£1,305.25	£1,468.41	£1,794.73	£2,121.05	£2,447.34	£2,936.82
Corston	£978.51	£1,141.60	£1,304.69	£1,467.78	£1,793.96	£2,120.14	£2,446.29	£2,935.56
Dunkerton	£972.09	£1,134.10	£1,296.12	£1,458.14	£1,782.18	£2,106.21	£2,430.23	£2,916.28
East Harptree	£973.20	£1,135.40	£1,297.61	£1,459.81	£1,784.22	£2,108.62	£2,433.01	£2,919.62
Englishcombe	£974.15	£1,136.51	£1,298.87	£1,461.23	£1,785.95	£2,110.67	£2,435.38	£2,922.46
Farmborough	£972.49	£1,134.57	£1,296.66	£1,458.74	£1,782.91	£2,107.08	£2,431.23	£2,917.48
Farrington Gurney	£976.69	£1,139.48	£1,302.26	£1,465.05	£1,790.62	£2,116.19	£2,441.74	£2,930.10
Freshford	£985.61	£1,149.88	£1,314.15	£1,478.42	£1,806.96	£2,135.50	£2,464.03	£2,956.84
High Littleton	£972.85	£1,134.99	£1,297.14	£1,459.28	£1,783.57	£2,107.86	£2,432.13	£2,918.56
Hinton Blewett	£972.87	£1,135.02	£1,297.17	£1,459.32	£1,783.62	£2,107.92	£2,432.19	£2,918.64
Hinton Charterhouse	£973.83	£1,136.13	£1,298.44	£1,460.75	£1,785.37	£2,109.98	£2,434.58	£2,921.50
Kelston	£961.77	£1,122.06	£1,282.36	£1,442.66	£1,763.26	£2,083.85	£2,404.43	£2,885.32
Keynsham	£1,004.61	£1,172.04	£1,339.48	£1,506.92	£1,841.80	£2,176.67	£2,511.53	£3,013.84
Marksbury	£973.46	£1,135.71	£1,297.95	£1,460.20	£1,784.69	£2,109.19	£2,433.66	£2,920.40
Monkton Combe	£968.41	£1,129.81	£1,291.22	£1,452.62	£1,775.43	£2,098.24	£2,421.03	£2,905.24
Nempnett Thrubwell	£958.59	£1,118.35	£1,278.12	£1,437.89	£1,757.43	£2,076.96	£2,396.48	£2,875.78



£981.92	£1,145.58	£1,309.23	£1,472.89	£1,800.20	£2,127.52	£2,454.81	£2,945.78
£953.50	£1,112.42	£1,271.34	£1,430.26	£1,748.10	£2,065.94	£2,383.76	£2,860.52
£977.17	£1,140.03	£1,302.90	£1,465.76	£1,791.49	£2,117.22	£2,442.93	£2,931.52
£1,012.47	£1,181.22	£1,349.97	£1,518.72	£1,856.22	£2,193.72	£2,531.19	£3,037.44
£1,024.58	£1,195.35	£1,366.11	£1,536.88	£1,878.41	£2,219.95	£2,561.46	£3,073.76
£979.58	£1,142.85	£1,306.11	£1,469.38	£1,795.91	£2,122.45	£2,448.96	£2,938.76
£970.86	£1,132.67	£1,294.49	£1,456.30	£1,779.93	£2,103.55	£2,427.16	£2,912.60
£969.06	£1,130.57	£1,292.09	£1,453.60	£1,776.63	£2,099.65	£2,422.66	£2,907.20
£962.07	£1,122.42	£1,282.77	£1,443.12	£1,763.82	£2,084.52	£2,405.19	£2,886.24
£962.30	£1,122.69	£1,283.07	£1,443.46	£1,764.23	£2,085.01	£2,405.76	£2,886.92
£980.01	£1,143.34	£1,306.68	£1,470.02	£1,796.70	£2,123.37	£2,450.03	£2,940.04
£967.75	£1,129.04	£1,290.34	£1,451.63	£1,774.22	£2,096.81	£2,419.38	£2,903.26
£967.33	£1,128.55	£1,289.78	£1,451.00	£1,773.45	£2,095.90	£2,418.33	£2,902.00
£971.18	£1,133.05	£1,294.91	£1,456.78	£1,780.51	£2,104.25	£2,427.96	£2,913.56
£967.78	£1,129.08	£1,290.38	£1,451.68	£1,774.28	£2,096.88	£2,419.46	£2,903.36
£966.53	£1,127.63	£1,288.72	£1,449.81	£1,771.99	£2,094.18	£2,416.34	£2,899.62
£981.57	£1,145.16	£1,308.76	£1,472.36	£1,799.56	£2,126.75	£2,453.93	£2,944.72
£980.85	£1,144.33	£1,307.81	£1,471.29	£1,798.25	£2,125.21	£2,452.14	£2,942.58
£976.55	£1,139.31	£1,302.07	£1,464.83	£1,790.35	£2,115.87	£2,441.38	£2,929.66
£977.98	£1,140.98	£1,303.98	£1,466.98	£1,792.98	£2,118.98	£2,444.96	£2,933.96
	£953.50 £977.17 £1,012.47 £1,024.58 £979.58 £970.86 £969.06 £962.07 £962.30 £980.01 £967.75 £967.33 £971.18 £967.78 £966.53 £980.85 £976.55	£953.50 £1,112.42 £977.17 £1,140.03 £1,012.47 £1,181.22 £1,024.58 £1,195.35 £979.58 £1,142.85 £970.86 £1,132.67 £969.06 £1,130.57 £962.07 £1,122.42 £962.30 £1,122.69 £980.01 £1,143.34 £967.75 £1,129.04 £967.33 £1,128.55 £971.18 £1,133.05 £967.78 £1,129.08 £966.53 £1,127.63 £980.85 £1,145.16 £980.85 £1,144.33	£953.50 £1,112.42 £1,271.34 £977.17 £1,140.03 £1,302.90 £1,012.47 £1,181.22 £1,349.97 £1,024.58 £1,195.35 £1,366.11 £979.58 £1,142.85 £1,306.11 £970.86 £1,132.67 £1,294.49 £969.06 £1,130.57 £1,292.09 £962.07 £1,122.42 £1,282.77 £962.30 £1,122.69 £1,283.07 £980.01 £1,143.34 £1,306.68 £967.75 £1,129.04 £1,290.34 £967.33 £1,128.55 £1,289.78 £971.18 £1,133.05 £1,294.91 £967.78 £1,129.08 £1,294.91 £966.53 £1,127.63 £1,288.72 £981.57 £1,145.16 £1,308.76 £980.85 £1,144.33 £1,307.81 £976.55 £1,139.31 £1,302.07	£953.50 £1,112.42 £1,271.34 £1,430.26 £977.17 £1,140.03 £1,302.90 £1,465.76 £1,012.47 £1,181.22 £1,349.97 £1,518.72 £1,024.58 £1,195.35 £1,366.11 £1,536.88 £979.58 £1,142.85 £1,306.11 £1,469.38 £970.86 £1,132.67 £1,294.49 £1,456.30 £969.06 £1,130.57 £1,292.09 £1,453.60 £962.07 £1,122.42 £1,282.77 £1,443.12 £962.30 £1,122.69 £1,283.07 £1,443.46 £980.01 £1,143.34 £1,306.68 £1,470.02 £967.75 £1,129.04 £1,290.34 £1,451.63 £967.33 £1,128.55 £1,289.78 £1,451.00 £971.18 £1,133.05 £1,294.91 £1,456.78 £967.78 £1,129.08 £1,290.38 £1,451.68 £966.53 £1,127.63 £1,288.72 £1,449.81 £981.57 £1,145.16 £1,308.76 £1,472.36 £980.85 £1,144.33 £1,307.81 £1,471.29 £976.55 £1,139.31 £1,302.07 £1,464.83	£953.50 £1,112.42 £1,271.34 £1,430.26 £1,748.10 £977.17 £1,140.03 £1,302.90 £1,465.76 £1,791.49 £1,012.47 £1,181.22 £1,349.97 £1,518.72 £1,856.22 £1,024.58 £1,195.35 £1,366.11 £1,536.88 £1,878.41 £979.58 £1,142.85 £1,306.11 £1,469.38 £1,779.91 £970.86 £1,132.67 £1,294.49 £1,456.30 £1,779.93 £969.06 £1,130.57 £1,292.09 £1,453.60 £1,776.63 £962.07 £1,122.42 £1,282.77 £1,443.12 £1,763.82 £980.01 £1,143.34 £1,306.68 £1,470.02 £1,796.70 £967.75 £1,129.04 £1,290.34 £1,451.63 £1,774.22 £967.33 £1,128.55 £1,289.78 £1,451.00 £1,773.45 £971.18 £1,133.05 £1,294.91 £1,456.78 £1,780.51 £966.53 £1,127.63 £1,288.72 £1,449.81 £1,771.99 £980.85 £1,144.33	£953.50 £1,112.42 £1,271.34 £1,430.26 £1,748.10 £2,065.94 £977.17 £1,140.03 £1,302.90 £1,465.76 £1,791.49 £2,117.22 £1,012.47 £1,181.22 £1,349.97 £1,518.72 £1,856.22 £2,193.72 £1,024.58 £1,195.35 £1,366.11 £1,536.88 £1,878.41 £2,219.95 £979.58 £1,142.85 £1,306.11 £1,469.38 £1,795.91 £2,122.45 £970.86 £1,132.67 £1,294.49 £1,456.30 £1,779.93 £2,103.55 £969.06 £1,130.57 £1,292.09 £1,453.60 £1,776.63 £2,099.65 £962.07 £1,122.42 £1,282.77 £1,443.12 £1,763.82 £2,084.52 £962.30 £1,122.69 £1,283.07 £1,443.46 £1,764.23 £2,085.01 £980.01 £1,143.34 £1,306.68 £1,470.02 £1,796.70 £2,123.37 £967.75 £1,129.04 £1,289.78 £1,451.63 £1,774.22 £2,096.81 £971.18 £1,133.05 <t< td=""><td>£953.50 £1,112.42 £1,271.34 £1,430.26 £1,748.10 £2,065.94 £2,383.76 £977.17 £1,140.03 £1,302.90 £1,465.76 £1,791.49 £2,117.22 £2,442.93 £1,012.47 £1,181.22 £1,349.97 £1,518.72 £1,856.22 £2,193.72 £2,531.19 £1,024.58 £1,195.35 £1,366.11 £1,536.88 £1,878.41 £2,219.95 £2,561.46 £979.58 £1,142.85 £1,306.11 £1,469.38 £1,795.91 £2,122.45 £2,448.96 £970.86 £1,132.67 £1,294.49 £1,456.30 £1,779.93 £2,103.55 £2,427.16 £969.06 £1,130.57 £1,292.09 £1,453.60 £1,776.63 £2,099.65 £2,422.66 £962.07 £1,122.42 £1,282.77 £1,443.12 £1,763.82 £2,084.52 £2,405.19 £962.30 £1,122.69 £1,283.07 £1,443.46 £1,764.23 £2,085.01 £2,405.76 £980.01 £1,143.34 £1,306.68 £1,470.02 £1,796.70 £2,123.37 £2,45</td></t<>	£953.50 £1,112.42 £1,271.34 £1,430.26 £1,748.10 £2,065.94 £2,383.76 £977.17 £1,140.03 £1,302.90 £1,465.76 £1,791.49 £2,117.22 £2,442.93 £1,012.47 £1,181.22 £1,349.97 £1,518.72 £1,856.22 £2,193.72 £2,531.19 £1,024.58 £1,195.35 £1,366.11 £1,536.88 £1,878.41 £2,219.95 £2,561.46 £979.58 £1,142.85 £1,306.11 £1,469.38 £1,795.91 £2,122.45 £2,448.96 £970.86 £1,132.67 £1,294.49 £1,456.30 £1,779.93 £2,103.55 £2,427.16 £969.06 £1,130.57 £1,292.09 £1,453.60 £1,776.63 £2,099.65 £2,422.66 £962.07 £1,122.42 £1,282.77 £1,443.12 £1,763.82 £2,084.52 £2,405.19 £962.30 £1,122.69 £1,283.07 £1,443.46 £1,764.23 £2,085.01 £2,405.76 £980.01 £1,143.34 £1,306.68 £1,470.02 £1,796.70 £2,123.37 £2,45

Average Band D Council Tax 2010/11

On average (for a Band D, 2 adult household) the Council Tax for 2010/11 will be as follows:

Reference Band D		£ Band D 2010/11	% Increase on
2009/10 £		Z Bulla B Z010/11	2009/10
1,172.54	Bath and North East Somerset Council	1,201.85	2.50
30.19	Average Parish Precept	31.07	2.91
58.63	Avon Fire Authority	60.38	2.98
161.26	Avon and Somerset Police Authority	168.03	4.20
1,422.62	Total Tax charged	1,461.33	2.72

Valuation Bands for Precepting Organisations

Bath & North East Somerset Council only

Valuation Bands

Α	В	С	D	E	F	G	Н
£801.23	£934.77	£1,068.31	£1,201.85	£1,468.93	£1,736.01	£2,003.08	£2,403.70

Avon & Somerset Police Authority

Valuation Bands

Α	В	С	D	E	F	G	Н
£112.02	£130.69	£149.36	£168.03	£205.37	£242.71	£280.05	£336.06

Avon Fire Authority

Valuation Bands

А	В	С	D	Е	F	G	Н
£40.25	£46.96	£53.67	£60.38	£73.80	£87.22	£100.63	£120.76

Charter Trust / Parish Council Tax Rates 2010/11

Parish/Charter Trust/Town Council	Precept £	Tax base	Band D £
Bath	208,900	31522.12	£6.63
Bathampton	24,000	745.24	£32.20
Batheaston	40,000	1124.21	£35.58
Bathford	18,324	799.10	£22.93
Cameley	18,000	450.73	£39.94
Camerton	10,000	255.13	£39.20
Charlcombe	1,500	205.44	£7.30
Chelwood	550	61.09	£9.00
Chew Magna	21,500	583.42	£36.85
Chew Stoke	15,000	416.58	£36.01
Claverton	4,000	66.62	£60.04
Clutton	13,794	568.95	£24.24
Combe Hay	7,200	91.29	£78.87
Compton Dando	6,870	287.12	£23.93
Compton Martin	9,500	249.02	£38.15
Corston	7,500	199.90	£37.52
Dunkerton	6,420	230.30	£27.88
East Harptree	9,000	304.59	£29.55
Englishcombe	4,170	134.63	£30.97
Farmborough	12,500	438.90	£28.48
Farrington Gurney	11,500	330.59	£34.79
Freshford	13,685	284.18	£48.16
High Littleton	23,000	792.54	£29.02
Hinton Blewett	4,150	142.81	£29.06
Hinton Charterhouse	7,107	233.09	£30.49
Kelston	1,000	80.64	£12.40
Keynsham	426,577	5564.61	£76.66
Marksbury	5,400	180.35	£29.94
Monkton Combe	3,600	161.03	£22.36
Nempnett Thrubwell	700	91.69	£7.63
Newton St. Loe	3,000	70.38	£42.63
North Stoke	0	42.13	£0.00
Norton Malreward	3,700	104.22	£35.50
Norton Radstock	635,294	7181.44	£88.46
Paulton	186,000	1744.50	£106.62
Peasedown St. John	85,779	2192.60	£39.12
Priston	3,200	122.90	£26.04
Publow	11,000	471.27	£23.34
St. Catherine	500	38.87	£12.86
Saltford	24,000	1817.85	£13.20
Shoscombe	6,594	165.84	£39.76
South Stoke	4,860	227.44	£21.37

Stanton Drew	6,683	322.18	£20.74
Stowey Sutton	16,000	603.35	£26.52
Swainswick	2,800	130.74	£21.42
Timsbury	19,000	971.98	£19.55
Ubley	7,000	166.28	£42.10
Wellow	10,138	247.07	£41.03
West Harptree	7,000	202.51	£34.57
Whitchurch	17,000	462.97	£36.72
TOTAL	1,984,995	63,882.43	£31.07

%age increases by area

Parish, Town Council or Charter Trust	Band D	% Increase (overall)	% Increase B&NES	% Increase Fire	% Increase Police	% Increase Parish
Bath	£1,436.89	2.7%	2.50%	2.98%	4.20%	0.2%
Bathampton	£1,462.46	2.8%	2.50%	2.98%	4.20%	4.9%
Batheaston	£1,465.84	2.6%	2.50%	2.98%	4.20%	-1.0%
Bathford	£1,453.19	2.5%	2.50%	2.98%	4.20%	-7.0%
Cameley	£1,470.20	2.8%	2.50%	2.98%	4.20%	6.5%
Camerton	£1,469.46	2.7%	2.50%	2.98%	4.20%	2.0%
Charlcombe	£1,437.56	3.1%	2.50%	2.98%	4.20%	202.9%
Chelwood	£1,439.26	3.0%	2.50%	2.98%	4.20%	95.7%
Chew Magna	£1,467.11	2.7%	2.50%	2.98%	4.20%	3.3%
Chew Stoke	£1,466.27	2.7%	2.50%	2.98%	4.20%	1.3%
Claverton	£1,490.30	2.5%	2.50%	2.98%	4.20%	-3.0%
Clutton	£1,454.50	2.8%	2.50%	2.98%	4.20%	5.5%
Combe Hay	£1,509.13	3.3%	2.50%	2.98%	4.20%	15.6%
Compton Dando	£1,454.19	2.7%	2.50%	2.98%	4.20%	2.4%
Compton Martin	£1,468.41	2.6%	2.50%	2.98%	4.20%	-2.5%
Corston	£1,467.78	2.6%	2.50%	2.98%	4.20%	-3.1%
Dunkerton	£1,458.14	2.7%	2.50%	2.98%	4.20%	2.0%
East Harptree	£1,459.81	2.7%	2.50%	2.98%	4.20%	1.8%
Englishcombe	£1,461.23	2.7%	2.50%	2.98%	4.20%	3.5%
Farmborough	£1,458.74	3.1%	2.50%	2.98%	4.20%	24.9%
Farrington Gurney	£1,465.05	2.7%	2.50%	2.98%	4.20%	3.9%
Freshford	£1,478.42	2.8%	2.50%	2.98%	4.20%	6.7%
High Littleton	£1,459.28	2.6%	2.50%	2.98%	4.20%	-1.6%
Hinton Blewett	£1,459.32	2.6%	2.50%	2.98%	4.20%	-0.9%
Hinton Charterhouse	£1,460.75	2.7%	2.50%	2.98%	4.20%	0.9%
Kelston	£1,442.66	2.7%	2.50%	2.98%	4.20%	-0.2%
Keynsham	£1,506.92	2.6%	2.50%	2.98%	4.20%	0.6%
Marksbury	£1,460.20	2.7%	2.50%	2.98%	4.20%	0.5%
Monkton Combe	£1,452.62	2.7%	2.50%	2.98%	4.20%	0.6%
Nempnett Thrubwell	£1,437.89	0.9%	2.50%	2.98%	4.20%	-76.2%

Newton St. Loe	£1,472.89	2.9%	2.50%	2.98%	4.20%	7.9%
North Stoke	£1,430.26	2.7%	2.50%	2.98%	4.20%	0.0%
Norton Malreward	£1,465.76	3.0%	2.50%	2.98%	4.20%	17.8%
Norton Radstock	£1,518.72	2.6%	2.50%	2.98%	4.20%	1.0%
Paulton	£1,536.88	3.8%	2.50%	2.98%	4.20%	21.7%
Peasedown St. John	£1,469.38	2.6%	2.50%	2.98%	4.20%	-0.9%
Priston	£1,456.30	2.7%	2.50%	2.98%	4.20%	-0.2%
Publow	£1,453.60	2.7%	2.50%	2.98%	4.20%	2.1%
St. Catherine	£1,443.12	2.7%	2.50%	2.98%	4.20%	-0.3%
Saltford	£1,443.46	2.5%	2.50%	2.98%	4.20%	-13.6%
Shoscombe	£1,470.02	2.7%	2.50%	2.98%	4.20%	0.8%
South Stoke	£1,451.63	2.8%	2.50%	2.98%	4.20%	9.6%
Stanton Drew	£1,451.00	2.7%	2.50%	2.98%	4.20%	0.0%
Stowey Sutton	£1,456.78	3.2%	2.50%	2.98%	4.20%	38.4%
Swainswick	£1,451.68	2.6%	2.50%	2.98%	4.20%	-3.0%
Timsbury	£1,449.81	2.8%	2.50%	2.98%	4.20%	8.8%
Ubley	£1,472.36	1.4%	2.50%	2.98%	4.20%	-29.7%
Wellow	£1,471.29	2.6%	2.50%	2.98%	4.20%	-2.4%
West Harptree	£1,464.83	3.0%	2.50%	2.98%	4.20%	17.1%
Whitchurch	£1,466.98	2.7%	2.50%	2.98%	4.20%	3.1%

^{*} with no discount.